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Blatt 2 Aufgabe 4b: Skizziere M = {(x,y) € R?|

Falll: x< -1 A y>1
—-1-x<-14+4y=y-1
— X<y
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Blatt 2 Aufgabe 4b: Skizziere M = {(x,y) € R?|

P+x

1)

Falll: x< -1 A y>1
—1—-x<-1+y=y-1

—X<Yy

Fall2: « < 1A y<1
—1—-x<1-y
—x<2-Yy

x=>y—2

BlE «>-1 1A y>1
1+x<y-—-1

2+x<y
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Blatt 2 Aufgabe 4b: Skizziere M = {(x,y) E]Rzl‘ <1}
Falll: x< -1 A y>1
—1—-x<-1+y=y-1
—X<Yy
Fall2: « < 1A y<1
—1-x<1-y
—x<2—-y
x=>y—2
BlE «>-1 1A y>1
1+x<y-—-1
2+x<y
Bl c>-1 1A y<1
1+x<1-y
X< -y
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Blatt 2 Aufgabe 4b: Skizziere M = {(x,y) € R? 1}
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Falll:x<-1 A y>1
—1—-x<-1+y=y-1

—X=<Yy
Fall2: « < 1A y<1
—1—-x<1-y
—x<2—-y

x=>y—2

BlE «>-1 1A y>1
1+x<y-—-1

2+x<y
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